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INSTRUCTIONS TO CANDIDATES:

USE A SOFT HB PENCIL THROUGHOUT THIS EXAMINATION. O
2. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TQDO@\

Before the Examination begins:

Check that this question booklet is headed “BUSINESS MATHEMATICS 5020 Paper 1”.

4. Insert the information required in the spaces provided above

Without opening the booklet, pull out the answer. sheet carefully from inside the front cover of this booklet, Take care
that you do not crease or fold the answer sheet or niake any marks on it other than those asked for in thése instructions.

6. Insert the information required in the space

provided on the answer sheet using your HB pencil:
Candidate Name, Centre Num didate Number, Subject Code Number and Paper Number
How to answer questions in thi
7. Answer ALL (ﬁe 50q in this Xamination, All questions carry equal marks.
8. No Calculators are allowed..

9, For each question thi'?e four suggested answers, A, B, C, and D. Decide which answer is correct. Find the number of
the questidnwon the Afiswer sheet and draw a horizontal line across the letter to join the square brackets for the answer
you haVechosen. For example, if C is your correct answer, mark C as shown below:
_ ',, - [A) [B] H [D]
’ I(Z Mar%gnly one answer for each question. If you mark more than one answer, you will score zero for that question. If you
ché“ﬁge your mind about an answer, erase the first mark carefully, and then mark your new answer,
11. Avoid spending much time on any question. If you find a question difficult, move to the next question. You can come
back to this question later. )
12. Do all rough work in this booklet using, where necessary, the blank spaces in the question booklet

13. Mobile phones are NOT ALLOWED in the examination room.

14. You must not take this booklet and answer sheet out of the examination room. All question booklets and answer

sheets w1|l be collected at the end of the examlnatuon 7
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1. e mean of five sumbers 244,88 and 12 48 7,
Caleulate the value of' N
A
B 10
: C 1

o

A 1650fts
B 2110fis
C  2000fis .
D 2100frs

3 A
. 8kg ot‘ sugar cost 1120(i, {ho cost of 15kg will be

ol

The price of a caloutator increased from 20001
10 2500fks, What Is the % Increase?

A S0%

B 25%

C 20%

D 5%

=

The average of  numbers is 56, The average of

the first three {5 39, W!mt ls mc 4lh number?
A 107

B 95
C 24
D 156

h
covers 950km? - h

A 141 litres
B 114 litres
C 105 fiwes
D 95litres
3 ‘Amrlscoredu marl

s ) T Wilnﬁd 4
covered. How many litres will it cons 3‘{6

revision.c

10,

d i
A oyollst hos "'}'
houra. Find M (

) sm".;’}k

12, 10% ofanumbor’
AL G12SEe
B 250
C 2500 s
D 25 A

13, Abill dlscountcd at 9% f'or 40“ ys
discouut of 20001¥s, Culou! \;g\L
& 100 O :(

{ f
‘‘‘‘‘‘

A 4200 000frs
B 200 000frs

C 4000 000frs

% Tﬁ 4100 000frs it
. The average wage of five worker.

| 0 000frs. The average wage ‘
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A multiplier coefficient is applied on a cost of

- 1200 000frs to get a selling price of 1800 000frs,
~»Calmxlate the coefficient.

£1525 ’
15 Gl
} 1 8 3 .
3 12 :
Given a full pack of playing cards the probability
that a card other than club is drawn atrandomis
N
% B 23
C %
D /52
A train moving at a speed of 40km/hr uses
2%2hours to reach its destination. The distance
covered is expressed as
A 402%
B  40km
C  40km x 2%hrs
D 2'4/40 km/hr

22. Two pairs of shoes and three pmrs of ttousers cost
25000frs while 4 pairs of shoes and 5 pairs of
trousers cost 43000frs. Determine s the total cost of
a pair of shoes and trousers =

A 2000frs

B 5000frs

- 7000frs -
D 9000frs 2

. Share 700 000frs inversely propomonal to
numbers 2 and 3 gives
A 260000, 440 000
B 280 000,420 000
C 420000,280 000
D 320000, 380 000
74, Calculate the total earnings o
paid 100,000fts fixed salary
on sales. His sale for the month
A 180 000frs :
B 110 000frs
C 210 000frs
D 120 000frs
25. The sum of 2 numbers i
is 35. Calculate th
A 50

for more p:

27.  Express 0.0006512 to 4 decimal pla

A 00006 R RIE S e

B 0.6512
C 0.007
D 0.000
28, The mean mark of 9 students is 9. A tenth student
joins and the new mark becomes 10 the tenth
mark is
A 190
B 150
Cc 10.0
D 90

29. Two bills of exchange A and B are said to be
equivalentif !

A FVA=FVB

B FVA=PVB » Raa
.C PVA=FVB , SNl

D PVA=PVB 12 %
30. A bill of 120 000frs discounted for 24 da;
will yield a discount of?
A T20frs

S NirsiTanghad 1 300000FRS s oredi balanc
account on 30/06/2014. She drew a cheque s

000fs on supplier Eben. Her balance will ‘:}’;

A 1700 000frs
B 1100 000frs
_C_900006
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36. When a bank applies the same interest rate on
debit and credit balances. It practices
A Reciprocal rate
B Direct rate
C Indirect rate
D Non reciprecal rate
37. A bill of 600 000frs maturing in 50days is
replaced by a cash payment of 595 000frs. The
discount rate will be?
A 16% .
B 25/3%
C 6%
D 4%
38, Share 600 000frs profit between two partners A
and B proportionately to their contributions of
1400 000FRs and 1600 000frs respectively into a
business. What will A receive?
A 320 000frs
B 200 000frs
C 180 000frs
D 280 000frs
39. Calculate the length of a rectangular piece of land
whose width is 10m and perimeter 60m.
A 6m
B 20m
C 120m
D 60m
40. The median of the following scores 5,8,6,9,8,6, 8
and 6 is
A S5
B 6
c 8
D 12
4]1. IfEuro=120frsand § =
12000 in FCFA
A 32000
B 2300
C 4500

1Euro, find value of $

D 144 000

42. A trade bought goods and received 10% discount.
If he paid 90 000fts, then the mark?price was?
A 95000frs
B 110 000frs
C 120 000frs
D 100 000
43, Determine thé inv
2012to 1 20
91 da
88 days
90 days
89 days

ent time from 1st February

OO w>»

45.

46.

47.

48.

49

50.

If the ratic between the cost price and selling
price of a given article is 20%, then evaluate the
ratio of profit on the sales.

A 35

B 4/5

C 5/6

D 6/8
John left kumba for Buea at 8;05am riding at an
average speed of 40km/hr arrived Buea at
9:50am. What is the distance from kumba to
Buea?
A 70km

B 72km
C  75km ;
A man earns an annual salary of 1 352 :
His weekly salary is.
A 32 000frs 0
C 112 000frs
D 26 000frs
Mr Nico exported co m and received
then his buyer
A € 48
B eqs
g € 48250
Simplify
0.0 X'0.9
0.25X0.04 ':
B 99 |
C 0.099
D 0.99

D  80km
B 30 000frs
39 000 000frs. lf@ ge rate is €1=800frs, ;
D «f 48750
A 99 :
Wnte in figure, one million six hundred and four

A l 006 004frs
B 1060 040frs
C 16000 004frs
D 1006 040frs
A product sold at 150 000frs had a profit of 30
000frs. Determine the mark up on cost.
15%
20%
25%
30%

A
B
C
D

W
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